dzolde,dy [pb/GeV]
H
o

Ratio to ATLAS

0.5

7000 GeV pp Jets
L | T T T I I I [ I I I I |_ w
— — <
= =N
— ==
— 0
- — X

o
= —9
— =13
— — N
— —Ho
—
= =L
= Hm
Z o
=
= =
= =
I 1™
— -
™
= el
= 30
— M
—
B |z
= m ATLAS EL
—  --O-- Herwig 7.2.1 default 4=
| —— Pythia 8.170 default i
= ¢ Sherpa 2.2.9 default 39
L )
| _|o
= H o
= =2
| | | | | | | | | | | | | | | | | |_ E

:I T | T T T T | T T T T | T T T T |:
— =2

- —4 -
. 1

- |

— .V“Q —_

L —0.5
1 1 L | L 1 1 L 1 1 L | L 1 1 L 1 1 L | L 1 1 L 1 1 L |
100 200 300 400



	Contents
	Page 1


